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PSYCHOLOGY

PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Ty

"

1.  The act in which people help others without any personal interest, motive, réa§6n is
called :
(1) Altruism (2) Nurturance . '
(3) Prosocial Behaviour (4) Social leigation’-. .li-
’ N
f |'

2. Read each of the following two statements -"I Assertion (A) and Reason (R) ; and indicate
your answer using code given below : f

Assertion (A) : Mean level of fluid intelligence (gf)'ff: hlgher in young adults than older
adults. e
A (
Reason (R) : Crystallized in%llig:ence increases throughout life span.
. <
Code : Ly

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

i,

(2) Both (A) and (R) are {true; but (R) is not the correct explanation of (A).

(3)  (A) is true} but (R) is false.

4) (A)is false but (R) is true.

4 "
F f |
f 1

3.  The multiple correlation ranges between :

(1) =050 to %0.50

i
)\, —1.00 to +1.00

of

(3) " Zero to 1.00

There is a fixed range for bivariate correlation, but not for multiple correlation

w7 \IHIIHII\HH AN
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" g S © 2 f
(1) wfeqam (2) TR
(3) T faih SRR @ R aE
= h {
2. Trfafad SR weri - stfaewe (A) qeradh m{aﬁv%qamﬂ%ﬁqm@wwm@w
IS
AFUHIT (A) : ﬁ%m%m@aﬁwﬁw ﬁwg@wnmﬁwﬁ%
BT
e (R) : YUl e el & q;;ﬂ opfesk Jfg B gles Bt T
%< : ) ,1, '
1) (A) 3R ﬁﬂﬁ%ﬁ? (R), (A) = Tl == |
2) (A) IR aﬁﬁﬁ%’m (A) FT eI =T 7 7
(3) (A) W& T W (R) TIFH%I
4) (A)Te ’?:Rﬂl (R) 9t T
3. o We-HH I G % " Bl B
(1) 0509 +050
(2;* , 100 9 +1.00
3) I H1.00
4) T5=R we-gay &I fa w2t © 7 fF 98 9e-ddy & fag
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4.  Match List - I with List - II and select the correct answer by choosing from the code given

below :
List - I List - II
(Concept) (Explanation)
(a) Viewer - centered representation (i)  The individual stores a representation of
the object, independent of its appearance
(b)  Structuralist view of perception (i) The individual builds af c?ognitive
understanding of the object /
(c) Object - centered representation (i) The individual stores,the way, tfle,n;bject
looks to him or her
(d) Constructivist view of perception (iv) Simple sensations constitute the building
blocks of perceived form
Code : 0 A {
@ B © @ y A
M 6 @) @) @) [ | |
@ @) ™ O 6@ - J
G @ 6 @) G 4
4) (@v) (@) @@ @ "4 f

5.  According to Gibson’s theory Bﬂperception :
(1) We directly perceive the environment. We do not need the aid of complex thought

processes. .

-

(2) We do not dire‘ctly perceive the environment. We need the aid of complex thought
processes.|

(3) - We pereeive the environment using our intelligence.

/ (4) We do notsgormect what we perceive, to what we have stored in our mind.

6.  According to Bandura, which of the following is the correct sequence of processes involved
in dbservation lﬁarning ?

(1)| Attention — Retention — Cognitive Rehearsal — Corrective Action
(2 ) \ Attention — Cognitive Rehearsal — Corrective Action — Retention
(3) : Attention — Corrective Action — Cognitive Rehearsal — Retention
(4)

4) Corrective Action — Attention — Cognitive Rehearsal — Retention

st (1T ;
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(4) GUNHE HRAT — BIH — HJHCHE YAAH — Ffaemo

s (1T ;

Paper-III

www.examrace.com



7.  Read each of the following two statements - Assertion (A) and Reason (R)

your answer using code given below :

Assertion (A) :
stable

Reason (R) :
Code :

; and indicate

Lewin asserted that avoidance -avoidance conflicts are comparatively more

Opposing forces tend to remain in state of equilibrium.

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

2
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

L

8.  Match List - I with List - IT and select the correct answer by Choosmg from the code given

below :

List -1 ,.'f
(Concept) |
(a) Intrinsic motivation ()
(b) Achievement motivation 44 (if)
(c) Self - handicapping h‘\ K (iii)
!
(d) Sensation - see}dng (iv)
1~
L
Code : .
@ B4 (@
(1) @) (1) ) (iv)
2 @ @ fv) " (i)
@) (v @) ) G
(4) (@) (@) |G (@)

il \ (

*
| List-1II
_fl (Description)

£

. really not feeling too good today.
ay not be able to perform well”.

”I;!love to drlve very fast, no matter what
ppens”.

“For me, accomplishing difficult tasks
and meeting high standards of excellence
is the top most priority”.

“I go for swimming everyday. I just love
it. I take out time from my tight study
schedule”.

9.  Identity status of individuals who are exploring alternatives in an effort to find values and

goals to guide their life is called :

(1) Identity Diffusion 2)
Moratorium (4)
N0 \||\||“||“H HIURATTHm ;

Identity Foreclosure

Identity Confusion
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10.

11.

12.

13.

14.

Sex chromosome anomaly (XXY) results into the development of :
(1) Klinefelter's Syndrome (2) Down Syndrome
(8) Turner’s Syndrome (4) Phenylketonuria

Which of the following is associated with memory for emotionally charged events ?

(a) Thalamus (b) Hypothalamus (c) Amygdala (d) Temporal lobe
Code :  a
(1) (a) and (b) only (2) (c) only (3) (b)and (d) only (4) _(d) only : .'I"; ‘

[

“Development is the result of Individual’s active participation in the development process in
interaction with important environmental influences”. This is the assumption of which of

the following approaches ? . r
(1) Maturational/Biological (2) Psychodynamic (
(3) Behavioural 4) C/_anitive..:

IlI |
A person, who reports that he oftenly feels above his ph_y"sical body. It is an example of :

(1) Derealization (2) | Depersonalization
(3) Delusion 4) Identiw"?gisoriqntation

Fd

-

.

Humanistic theories of personality e characterised as :
(a) Having optimistic ideasjabout human nature

(b) Emphasize personal respoilsibility

(c) Focus on present than on past

(d) Believe that faft;: is an important determinant of human behaviour

Code : ' {

(1) (a) and (b) only (2) (c) and (d) only

(3)  (a),(b) arfd (c) only (4) (b), (c) and (d) only

4

15.  The following stlgterr{ents represent the work of Noam Chomsky, choose the correct one

from the code given below :

(a) = He called himself a Cartesian linguistic

(b) He analyz!ed syntax

(c)ll't He wrote about transformational grammar

(d) " He developed an artificial language called “Yerkish’

Code *

(1) , (b) and (c (@), (byand (d) (3) (b),(c)and (d) (4) (a), (c) and (d)
N7 \II\I \I\IHIIHHI\IIIHII ;
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10. feim orgs fagmfa (XXY) % ufomrasy frefafad § & 3 fowfad g g ?
(1) FATheel HaAeTo (2) A HAH

(3) = oo (4) IR

11. T=fafed § @ =@ 9o el st &t Wi ¥ gafga €2
(a) Scmd (b) AURATR (c) TagiuEet d) R TE
Fe ¢
(1) ¥ @ b)) () F () () F9 (0) FR( (4) FFA) S
12. “WWWQW%W%W@WﬁWHﬁWﬁ@%ﬁWW
& AT g1 g TauRen fefafed § § few sur | wefd § 2
1) wftasETeeR )/ Sifaeh 2) THANEHS -*
(3) HIBRIh (4) HIHHS - |

-

13. @wﬁam%w%%%mmw%wwéﬂww% < 7% Fre & 9 ol

ISR § ? [ .
(1) STaRdfahaTareh (2) gaﬁ@\
(3) v (4) oo RS frgEn
A\
14. fodd & AFdaET fagidl st ) f
a) wwm%aﬁﬁm@ﬁwm
) SafeR SIE TSI o
) YdeE hl TS AHA WS
) U = W o fafd Aee SR w1 U e STEERe §
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(1) o () 3 (b) (2) I () 3 (d)
@ (@), byl @ R (b), O R (@)

15. ﬁmﬁf@ﬁmﬁfﬁ@ﬁmﬁ%aﬁﬁﬁaﬁﬁmw%l feu U e § & T faswew g
(a) W I SHET e HAG 9 |
(b) =M ar fomara ot fagersor fean |
(c) SRIH BIROT AT o IR H foran |
(d)‘;ﬁ‘m’wqﬁﬂwaﬂwml
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16.

17.

18.

Which of the following is the evidence that REM sleep specifically enhances consolidation ?
(a) REM increases after learning
(b) REM deprivation interferes with learning

(c) Performance improves following REM sleep

Code : ]
pe
(1) (a)and (b) only (2) (a)and (c) only (3) (b)and (c) only (4) (a), (bl) anc} ()
lp' [
Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate

your answer using code given below. . '

r

Assertion (A) : Managers make judgements about employée s dlilspos1t10ns in various

situations.
-

Reason (R) : Inferences are drawn on th%/é:is of observations.

| I
|

Code : / _

(1) Both (A) and (R) are true, and (R) is the correlt'fgxplana}ion of (A).
(2) Both (A) and (R) are true, but q{) is not the Correé't éxI;ianation of (A).
(3) (A) is true, but (R) is falseay }':

(4) (A) is false, but (R) is trl}e

Arrange the following correlation coefficients in descending order in terms of their strength
of relationship; as defined i)y common variance :

1 -08*40.7 —-0.5 0.4
) iy

(

D 07 4. -05 —08
G) 04 :z).s' 0.7 -08
(

4 —-08 <05 04 0.7
I
\

19. A 1‘niother is telling her child to eat vegetables before getting dessert. It is an example of :
(1) Reward - Contrast Principle (2) Delay Conditioning
Premack Principle (4) Crespi Effect
N7 \II\II“IN QR 1
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16.

17.

18.

19.

e § A 19 39 qe 1 Wied © b ez . e 9 fafvre v @ e ¥ aifigfs 2t 2
(a) ST % TG STRS.TH. el 7 |

(b) SRITA. F A9 Y AR § Fqery 2 7|
(

¢) AR % TYER] T3 TH. Hig H GUR B |
<< : ¢
(1) ¥4 @ R (b) (2) F () T(Q) (3) FHA () M) (4) (@), Ob) ()

[
frefafed < el - sifierer (A) iR deh (R) ﬁmﬁ?ﬂ%ﬁqﬂﬁwww&m

AfeReT (A) : Wwﬁmﬁaﬁﬂ‘rﬁ%lﬁwuaﬁwqm %aﬁﬁﬁrﬂ‘ﬁamﬁ%
T (R): ﬁ&m%wwmﬁmﬁﬁm@ %

R) SHI W& € 31K (R), ( )aﬁﬂ%‘rsqm‘y‘
R) <M1 W& ¥, W] (R), @)aﬁﬂéwﬁ%l
Wﬁ% T (R) Tord © 14, d_f:

(1) (A) 3R
(2) (A) 3R
3 @A
4 (@A)

(A) TeTd B, T (R) ﬂg"}%

Frefefad T8-Hey Haehil -;{hl{ehf (TqoTieht ) SRl T faferar gry e qRifed 39eh Hay i oiferd &
S CIEENCE R L
(1) . —0.8 “ 407 —-05 0.4

£2 o7 4, -05 08
0

3 04 05 07 -08

(4) -08 05 04 0.7
; |

ﬁ%ﬁﬁﬂé@%l‘@%‘, e o W Teel Heot wsll’ I T | @ fohgen SereRmr ® 2
(1) = ER-au= fagid (2) fadia stgaEy
(3) = fagid (4) el gy

s (1T y
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20.

21.

22.

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Teacher’s motivating style determines student’s motivation for reading

Reason (R) : To enhance student’s interest in reading, teacher may offer a reward for
reading along with helpful feedback.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). f

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). { ’
(3) (A) is true, but (R) is false. ! f
(4)

(A) is false, but (R) is true. 3 y
( °,
D {
The levels of processing proposed by Craik r?}ﬁ'(’i Tulvihg follow the specific sequence in
progressive order of depth ; choose the Corre:I:t. |

(1) Acoustic » Semantic — Physical I /
(2) Physical - Acoustic — Semantic \ d/
(3) Semantic — Physical — Acous;ic ( ——
(4) Acoustic — Physical — Semalktick .
. <
Vi

DSM - 111 is considered qualitatively different and superior to its predecessors, because :

(a) TItis multiaxial‘l

(b) It deleted misnémor words

() It introciiu_cled coding system

, (d) It used experimental data

Code : f

(1) (), (b) and (c) only (2) (a), (c) and (d) only

(3)" (b), (c) and (d) only (4) (@), (b), () and (d)

\

23. Accgrding to Jensen what percent (%) of variance in intelligence is explained by genetic

factors':

(1) 20 to 30% (2) 55 to 65% (3) 80 to 90% (4) 40 to 50%
aos [ TR 3
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(1) 209 30% (2) 55¥65% (3) 80| 90% (4) 40 9 50%
on [ ERAHEAANII .
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24.

25.

26.

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Westerners tend to focus mostly on the figure when viewing a scene and
much less on the ground whereas East Asians pay greater attention to the
overall context.

Reason (R) : Culture affects the way we direct our attention to notice or ignore things
around us. ]
Code : ¢
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A). "rt;
(2) Both (A) and (R) are true, but (R) is not the correct explanation oflr(A). f
(3) (A) is true, but (R) is false. . ¥
(4) (A) is false, but (R) is true. iy { (
»

Read each of the following two statements II."fAssertlon ('A) and Reason (R) ; and indicate
your answer using code given below : , /

Assertion (A) : Autoshaping involves S - § Iearnin;.

Reason (R) : Some behaviours are innate responses to a stimulus and because of temporal
contiguity between ihem they acqulfre “stimulus related properties.

Code :
(1
2

< |
Both (A) and (R) are tru ,i,and (R) is the correct explanation of (A).

)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
i
4)

4) (A) is false, but (R) is true.

4

Emotions can be characterised as :
Fi a

(a) Giving rise Fo affective experiences
(b) Stimulating' generation of cognitive explanations
() f Triggeringl a variety of internal neurobiological changes

(d) Always eliciting rewarding behaviour
L]

Codf& :
1) @, (b) and (C) (2)  (a), (c) and (d)
(3) (b), (c) and (d 4) (a), (b), (c) and (d)
raoer | |||||||HHH|H||||H|H||H|| 1
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24. freAfafEa < el - afirerer (A) siRadh (R) F1 dfgn 3R = fSu T4 e 1 3TE0T Y gu 79
I ST

APURYT (A) :  TR=HT <2 o AN forelt 399 &l T@H o o H SARIR STeh{d T A hi=d hid

T IR T3y W STeRd HH L U € et gd Ui | wey de W aga

3feres &AM < ¥
Tk (R) : & For qlieh @ o797 -9 i =Sl o i &4 < € 91 SR é1°|6('1'1l F T

g Ghfa ¥ gfad g ¥ |
%< .f’,
(1) (A) 3R (R) I T § 3R (R), (A) F T =0 ¥ : i
(2)  (A) R (R) T 9l &, T (R), (A) i &l =T T €|
(3) (A) W T WY (R) Tord € g1
(4)  (A) 7T , W (R) W R y ¢ L

/.a' ’,

25. frAfafed < weuFi-sifiewe (A) iR (R) aﬁqﬁqaﬂiﬁ%ﬁqmﬁwwﬁﬂaﬂﬁ@m

IR S :
AUHRAT (A): T Wﬁmmﬁwa«%

& (R) : @WW@W%WW %aﬂieﬂ%ﬂw&%ﬁﬁﬁﬂm?wé%
Wwﬁe‘sﬁw@?aﬁﬂwwaﬁ

e

1) (A)3RR aﬁ'—haﬁ%aﬁtm A) F T& e ¥

(2) (A) 3R (R) S TR §, T (R), (A) F T =0 T 2|

(3) (A) ¥ T, T (R) Tofa €

(4) (A) e & TG (R) WE €

‘4
26. ﬂ’aﬁaﬁﬁw%ﬁ@ﬂﬁwmﬁqﬁwﬁammw%‘?
| (a) T ST e

(b) ~EIFCH fqlleqldﬁ % YT I eI HEAT
() fafurr stidfier T1g Sifereh qierd= Scoe e
(d) H<T AT FER 3T h{T

(1) (@), (b) &R (o) @ (@), (© R (d)
(b), () &R (d) @) (@), (b), (© 3R (d)
m -
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27.

28.

29.

30.

31.

N-00417 \|H||“||“||H|“|

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) : Every cigarette packet has a verbal and pictorial warning about negative
consequences of smoking.

Reason (R) : Inconsistent cognitions have the motivational properties.
Code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

&
(3)  (A) is true, but (R) is false. {
(4) (A) is false, but (R) is true. [ f

L

When students study and practice hard with interest and enjoyment, it is called :

(1) Emotional engagement (2) Cognitive engage’menti'
(3) Behavioral engagement (4) I;Leﬁlthy adjustment

f i

IlI |

| I
If the teacher presents the extrinsic motivator in a cintrolled way, then

-

—

~— ~— N ~—

It will enhance competence of students
It will interfere with autonomy of students

It will enhance their overall Ieamning f

o~ o~ o~ o~

It will enhance the autonqg}y of students
Y
According to the Connectiofiist view, memories are :
(1)  Abstract concepts (2) Knowledge structures

(3) Interconnection$ among neurons (4) Schemas

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

" Assertion (A) : ‘E’he.ldynamic process of parent - child interaction during Phallic stage leads

o the solidification of Ego.

Reason (R) : Child’s successful resolution of Oedipus Complex leads to appropriate
| gender role identification.

Code : !
(1)I'a Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R ) is false.
4)

4)  (A) is false, but (R) is true.

| 16 Paper-II11

www.examrace.com



27.

28.

29.

30.

31.

frefafaa SHi wmemi-3ifierem (A) 3R aeh (R) &I gfet 3R = ST 7T %2 =1 & w3 g S™®

difS

AR (A) :  FORE & IA® Uohe W YUIM & ThRIcHS IROMHI & IR | aifess qen dfae
dTe! B T |

?IT%(R): ST M o ATYIROTCHS® T[0T 81 € |

(A) 3R (R) ST W&l § iR (R), (A) T F& =0 B
(A) 3R (R) IHi T& ¥, T (R), (A) Tt & A7 T ¢
(A) T &, g (R) T 2|

(A) TeTd B, T (R) T2 T I

wﬁmﬁﬁw&rﬁwm@amﬁw%ammm%@ww%
(1) WTEAIHS e (2) G ey L |
(3) HICNIH 3TEH ) e TS

F | |

a&ﬁwwwﬁﬁmaﬂeﬁﬁmmﬁwaﬁﬁ@a TR,
(1) T BE St gHAT T erar et | a’ﬂ

(2) THY BT hl LA H FEIAT SR | J
3) sﬂaﬁwﬁ?wﬁwwwéﬂ@m "ol )
(4) THY BT W@ aﬂwﬁqﬁiﬁﬂl -

ey gftewiv |é¥ﬂ1ﬂ|{@§rﬁmiﬁhﬁﬁw%7

(1) 3T I (2) M =EY

(3) T hif¥TemieT <A A HeY (4) THAS
i

et < oot (A) SR A (R) 1 TR o A R T e 1 S R g o
W‘fﬁﬁﬂl: '

&y
AHRAT (A) : _forerareen H & & S a1/ fi-sietes o o= &1 ST=isha i iasiel gishan

IROTHEEY 3TE Hgg Bl €|
e (R) : [ & WA i TR ¥ Thelardeh SId 9 o hea®y qfad ais
| | et i TR e
T3 |
(1), (A) R (R) S W& § S (R), (A)ﬁﬂﬁw%ﬂ
(2) ¥ (A) 3R (R) S W& §, T (R), (A) T HEI =0 T g |
(3) (AFI’&FT%‘T{TSI, ) eI B |
(4) W%W(Raﬁ%|

Nauet ||H|\|H|||H||\|\||H||H\||||H|H|\|H|\|||H||\||\||\|\|II\ 1
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32.

33.

34.

35.

N-00417 \|H||“||“||H|“|

A patient in Mental Hospital somehow procured a needle and thread, and while sleeping,
she tried to stitch her lips together, so that someone does not pour poison in her mouth when
asleep. Most probably she suffers from :

(1) Bipolar Disorder (2) Hebephrenic Schizophrenia
(3) Delusional Disorder (4) Borderline Personality Disorder
I:; 1

John, the chess master selects his next move by considering the moves that it would threaten
the opponent’s queen whilst his opponent, a chess playing computer, selects its next fhove by

considering all possible moves John is using whilst the computér is using
(1) Algorithm ; heuristic (2) Prototype ; mental set d
(3) Mental set ; prototype (4) Heuristic ; algorﬁjhm . !
/_.4 , 3 {
Today social psychology studies : I,."f . I.'
(a) Social cognition f \ [
(b)  Ethnic Diversity ﬁ'/ Y.
() Multiculturalism %4 f B
Code : . ﬁ-{ -
1) @and® @ Shd© () Bad© @ @ 6 and @

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

Assertion (A) # People perform in accordance to the social positions they hold.

" Reason (R) : 'Teo'-ple select relevant information from tremendous amount of social

| nformation.
Code i
(1) Both (A ahd ) are true, and (R) is the correct explanation of (A).
(2) . Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

| 18 Paper-II11
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32. TARM STyl H Ueh Hfeen WM A fRdt gRR | T g iR umm wifae o foran IR O avg sun
377 BISi ol Tae o1 YA T, difer Hid 5 s 39k 48 | fau 7 S/a ¥ | a8 Fefafaa 5 9
e I | T 72
(1) fo-yefa miforhr () efedafen fasitefrn
(3) v far (4) HRE AfEa fawR
33. S, IS ol faeme! TH =me R fIaR & o 9991 3TIHT STTe! =Tl ol o9+ il %ki\uwa Torredt
&7 ] T o ToTT WA Se9=T 81 ST, STelfeh S9ehT faliel &7, IS Waranel oizt}@{ Wﬂiﬂ‘gﬁﬁﬁ
=Te R faaR T gU ST STTel =1el =t ¥ |
Skl 1 ST F @I § Safsh HHX T FAT T W T
1) fafer faew; emes e (2) oTEREY; qﬁm—ﬁmﬁﬁ.
(3) HHAfHH fo=m; ey (4) W; ﬁafa—ﬁs‘m
f |
34. S AT HAIfORME = 9 foheent am#;ﬂm%‘ /
(a) ETHITSTR G 4"’/
(b) AT (SrE) fafaem 4 { g
() o8 Hepfaarg - 4_'{ '
% : A/
(1)  (a) 3 (b) @), (@) 3 (o) (3) (b) ¥ (o) 4) (), (b) 3 (0)
35. ﬁwﬁf@aa‘rﬁm—;ﬁm{m (A) SR T (R) I 9fe o1 T fST 7T e 1 FAR Hd BT IWN
IS 'y
R (A) :*ﬁnﬁﬁwﬁmﬁaﬁrﬁ@ﬁ% IHF STIHR & & A T |
'r e (R) : | o AT ¥ GafHd FoT 1 =99 H © |
%< .
1y (A) 3R (R) S = ¥, 3R (R), (A) 1 = o
2) (A) 3R (R) 3R T ¥, WG (R), (A) F T N R
(3) = (&) T ¥, T (R) o B
(4) (A) T T, T (R) & T
oon [ F{RHFERCR AN s Pape.In
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36.

37.

38.

39.

The sequence of different dimensions of Job Characteristics Model are :
(1) Skill variety, task significance, autonomy, task identity, feedback
(2)  Skill variety, task identity, task significance, autonomy, feedback
(3) Task identity, task significance, autonomy, skill variety, feedback
4)

4)  Autonomy, task identity, skill variety, task significance, feedback

Fill in the blank by selecting appropriate alternative. 'f; )
Harlow’s classic studies with baby monkeys and wire or cloth artificial mothers have
demonstrated the importance of in the early development.

(1) Regular feeding (2) Classical condltlonmg 4

(3) Freedom to explore 4) Physmal ‘contact | (

’ N
II
A person with Schizophrenia was found to/repeat whaﬁever words the psychiatric social
worker was speaking. This behaviour can be labell

d a
(1) Echopraxia (2) Neologism 1! d Saladmg (4) Echolalia
Which of the following are not Fact%r Analytically derived personality inventories ?
L
(@) 16 PF b S
(b) Comrey Personality Séales
(c) Jenkins Activity Survey
(d) Edwards Persohal Plieference Schedule

Code :
(1) (a) and‘(lﬂ only (2) (c) and (d) only
F F
m(mmﬂmw (4)  (b), () and (d) only
40. In which parts of brain the feeling of hunger and full are felt ?
11 Hypothalamus ; Cerebral Cortex
(2) o Lateral hypothalamus ; Ventromedial hypothalamus
(3) " tateral hypothalamus ; Cerebral Cortex
(4) Cerebral Cortex ; Ventromedial hypothalamus
s T 2
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36. HrE-dferea e & fafie A=l & Tet w1 &1 TAE B
(1) =i fafawar, e 1 7o, T, 1 w1 ggaH, gfagfte
(2) o fafasm, el it 9gaH, FE S HE, @R, gy
(3) M W TEEM, HE I TEI, WA, hive fafaed, gfagfe
(4) T, S UEa, wire fafawd, s wt me, yfagfe
f
37. 3fua foeshea w1 =7 o R waHl =0t gfd sifse i
ﬁmwmquw&mammmamﬁmwﬁmﬁ rom
Hew USRI g7l 8 |
(1) Trafa waE (2) GRS
() E w @) wOfmdE
38. WIS 9 T AT Sl & 62 ST gU < Il &, Gﬁ ﬁﬂquhm e AR shriehd sl
@l 91| 39 AR i T & T 1 gl ST Uehdl © 2
(1) SR (2)  TAwsareo (3) gijﬁqsm (4) SaStera
39. T ¥ HF-Y FRH AfHS i H?"Hqiil ifr ERELRIRE %Er Y e T T 7
(a) 16 W.T. N
(b) R AT "ot
() SiferTd Frisham Fefem
() T df Wt e
%< 'y
) ) R @) () R
(e %@ a) (bf A (© @ e (b), () R
40. WfgsR & foRa ﬂ'l]"ﬁﬁ“{@' 3R ‘g’ ol Hag o1 eTya foha S 2
(1) 31U ; TS i
(2)"y Ti¥eh Sreeede; S2Hifedd ey
(3) Ui s1ergeiden; doet Hida
(4) GO HICH; I2HIfeTd ETAdR
oot [ R RUAARI 2 —
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41.

42,

43.

44.

N-00417 \|”||“||“||H|“

As per Goleman “Motivating Oneself” component of emotional intelligence includes :
(a) Marshalling emotions in the service of goal

(b) Delaying gratification and stifling impulsiveness

(c) Being able to get into ‘flow state’

(d) Monitoring feelings from moment to moment

Code : _
(1) (a) and (b) only (2) (c) and (d) only ¢
(3) (a), (b) and (c) only (4) (b), (c) and (d) only { "

f r
Read each of the following two statements - Assertion (A) and Reason (R) ;rand indicate
your answer using code given below : - ¢

Assertion (A) : In Time Series Design, auto correlation is a ro{ltine; E-feature.

Reason (R) : Autocorrelation is efficiently paﬁdled by statistical method ARIMA
Code :

(1) Both (A) and (R) are true, and (R) is the corr explanauon of (A).

(2) Both (A) and (R) are true, but (R) is not the c ‘Igét explanatlon of (A).
(3) (A) is true, but (R) is false. —
(4) (A) is false, but (R) is true. “{ (
</ '
An example of Feature Analy;isils
(1) Phonics (2) Words
(38) Context of words: (4) Meaning of words

{
|

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

rganism’s overt behaviour is followed by reinforcement.

/ Assertion (A) : n?cc,_ording to Dollard and Miller, observational learning will occur only if

Reason (R) :  Copying behaviour involves guiding of one person’s behaviour by another
| person.

Cocie : |

(1), Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) 2 ¥ Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3) (f«x) is true, but (R) is false.
4)

4 ) is false, but (R) is true.
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41.

42.

43.

44.

T o STIER HolTicHeh 95 o ‘T ol IRA LA arel’ Hoes | |idfed ©
(a) & YT LA ok TAC HAT H1 ST HEAT

(b) IRgfe I focifad T qon sTermRierar T == &
(c) ‘vere feufa’ § M =t &
(

USRI (A) :  THI-@a fiehed | w&a: Wwaqﬁmaﬁm%
& (R) : wwwamwfmﬁﬁWwwﬁl

3R (R) S W& € 3R (R), ( aﬁaﬁw%l_*
3 (R) IHT @& 8, W (R), (A)aﬁﬂém@?@%l

A) T ¥, T (R) T 2|
A) T Y, T (R) TR 81 N
« 1
o1 e SRR R s
(1) wafH-foam " (2) 3=
(3) wee-weH 4) vl

Frefafaa 31 weFi- arﬁnmﬁ ) SR (R) 1 Afeq AR = ST T F2 1 ST HLd gY AT
SwAfT:

IR CDE] (A):*@aﬁaﬁtﬁw%wﬁw—afwmﬁmwsﬁa%wwé

TP Forer il € |
e (R) : . i Tehel R H TR AT gN fordl AT o STe@R sl ANl &M il
ofee 7
FE - |
(1), (A) 3R (R) < T € R (R), (A)aﬁﬂ'ﬁaﬂ@ﬂ%\'l
(2) ¥ (A) R (R) Tl F €, W (R), (A) B A T €
3) (A) u & R, T (R) T 2|
(4) (A) 7MW T, T (R) T g

s (1T 2
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45.

46.

47.

48.

Which of the following is the final destination for much of the brain’s information about
emotion, before action is taken ?

(1) Amygdale (2) Anterior Cingulated Cortex
(3) Pre - frontal cortex (4) Hypothalamus

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate

your answer using code given below : "

i

Assertion (A) : You can remember vividly what you wore on your first date.
4

Reason (R) : Memories of emotionally significant events cannot be aceurate at 4ll. »

Code : { f

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)s
(3) (A) is true, but (R) is false. . 5 (
(4) (A) is false, but (R) is true. /.-‘ ,.;

i i

/ \
Read each of the following two statements - Assertion '{A) and Reason (R) ; and indicate
your answer using code given below : s ]

Assertion (A) : Cattell incorporated factors, Q;, Q,, ﬁ'i, and;,Q4 in 16 PF
Reason (R) : Some factors appeaﬁ?d only in L - d'até, ot in Q - data
Code : b .
(1) Both (A) and (R) are trufji‘nﬂ (R) is the correct explanation of (A).
(2) Both (A) and (R) are true,ébut (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A)is false, bufi(R) is true.

L

Read each of the following two statements - Assertion (A) and Reason (R) ; and indicate
your answer using code given below :

ife

/ Assertion (A) : AE{at_uralistiC decision making involves decisions as they occur in every day

Reason (R) : he decisions required in many situations often have serious ramifications

| for those who make decisions.
Cocie : |
(1), Both (A) and (R) are true, and (R) is the correct explanation of (A).
2) W Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3) ; (A) is true, but (R) is false.

(
(
(4) (A) is false, but (R) is true.

st (1T 2
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45. WfeTsh 1 HaT greedt sIfenter gEmiet o Sifam Taer fefated § § se-w § 2

(1) TAgfoes (2) Uded! TR dehe
(3) Y- e (4) TUTATHR

46. Trafafaa Al w3 MUwe (A) 3R deh (R) Tl Ufer qen 9= fIT 7T Fe 1 Ja1T Hd T SW
e
AMTRIT (A) :  TUH ST T FAT TG A1, 3T 3758 T IS T Tohdl ¢ |

& (R) : WW@WW@@WlW@@?ﬁHdMW@Wl
%< [

(1) (A) 3R (R) 1 ¥ € IR (R), (A) T T =0 7 |

2) (A B T ¥, T (R), (A) Y FE = A R :

3) (A) Wl g, T (R) Tod 4 { 'i'

(4) (A) M g, TG (R) 9L R Y | 9

47. ﬁ‘?%ﬁ@ﬁ&”[%ﬂ‘ﬁ—ammm)Wﬁ(R)?ﬁ@@?‘ﬁ%ﬁ’QW@WWW@QW
S?RE'T%TQ:
IR (A) ﬁ%ﬂﬁléiﬁ.@.ﬁa?iLaqz,a?{Laﬁ\iﬂ%}maﬁaﬁw%am
e (R) : @WW@—Wﬁﬁ@émﬂfﬁﬁﬁ|
e |
(A) 3R a‘r—h%‘r%aﬂv‘ ‘(Aaﬁ@m%
(A) 3R aﬁaﬁ%m@ (A) T HE AT T 7
(A)'H%}%,W!(R)W%I
(A) T B, TA(R) éﬁr%ﬁ
48. ﬁw%if@ﬁasﬁaﬁalﬁmmm)@wzk ) 1 ufgu iR = feu 7T Fe 1 ST FA g A
ST T
[ sfrerer (A):  Eanifes Frofr o @ wfwan § 00 Frots wiftet 99 ¥ S eR S S § wfw
eI § |
Th (R): | ga ©t feafaaii # srifera frofer 1 fofar Samell W e/RR TR gume vedr §
RE - |
(1), A)aﬂt(R)aﬁﬂﬁ%aﬂI(R (A) FT &I == T
)3 (A) R) TH T&l €, T (R), (A) i T == 71§ |
(3) )@%W(R Terd % |
(4) (AW%W(RH’@%I

s (1T s
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49.

50.

51./

Match List - I with List - II and select the correct answer by choosing from the code given
below :

List - I List - II
(Phenomenon) (Explanation)
(a) Over - extension (i) The use of single word to represent whole phrase or
sentence
pe
(b) Under - extension (i) The tendency to apply a word to more objects or actions
than it actually represents ,.(" .

(c) Holophrastic speech (iii) Speech marked by reliance on nouné and verbs,/while
omitting other parts of speech ineluding articles and
propositions . Y

r

(d) Telegraphic speech  (iv) The tendency to apply a wotd to fewer objects or actions
than it actua/l}y-repre'sents

Code : / |
/ , }
@ 6 © @
1 O @) @ @) \ ./
2 @ @) @ () e a
@) O @ @ G [ |
R
4) @) @) (@) (@) g

Which part of Central Nervous System controls much of the Endocrine System by regulating
the Pituitary Gland ?{

(1) Amygdala (2) Hypothalamus (3) Hippocampus (4) Medulla
"4
Cognitive struchffes that represent an organised collection of knowledge about people, events

and concepts arejcalled :

(1) Images | (2) Schemas (3) Social influence (4) Disposition
|

\
52.  Which is not the part of Equity Theory ?
(1) ~ Qver payment (2) Under payment
(3) Linear payment (4) Equitable payment
s T 2
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49. o - [ Gt - 11 o 91 GAfAd FIfe AR FAfafad se &1 780 w1 g8 9@ ST 6l o9
RIS

et -1 el - 11
(9erH) (=)
(a) 3T faar () Y STRNY el ol Efud v % fau weha uss o
{
(b) s1en-faar (i) ek fauei stuar wr o fou T s Sy Eil
eI SR SgA: F ¥k 34 SAferh favet 2 et A fHewen
TN |
(c) THl e (i) maﬁxwawmmmﬁaaﬂmw&w
SR fohat ot stfereh ST %3 g P Sfed
(d) ferms 3fe (iv) sl 31sg =1 sﬂﬁ;wﬁmmﬂsﬁmﬁﬂ‘a%mwﬁ
I yafa
f i f
@ (b) (9 (d) / /
1 @ @) @ @) ¥ ( "y
2 @) @Gv) @) (i) < f !
¢ @ @) @ @) ( <
4) (@) (@) @) (V) -

50. Waﬁmww%mmﬁqﬁwuﬁaﬁﬁﬁwﬁwwmaﬁwﬁa@ﬁwm
HIAT?

(1) w@fﬂ* (2) TR (3) feoipem (4) Fgan

r j '
51.0 GIHES ST Sl ARMT, Al Qo STAURONSAT o SR H Faedl Fl Siied GI8 T&d il §, 39
=1 H | o et A1 | 2

(1) - Steri I (2) ThIATS (3) TSR g9 (4)  feafa

52. ﬁréﬂr?f@aﬁﬁwwﬁmﬁaﬂwﬁ%?
" gty Hert (2) " HSRA
(3) Xt gerr (4) Tl HeRr

s (1T 2
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53.

54.

Match List - I with List - II and select the correct answer by choosing from the code given
below :

List -1 List - II

(Dimensions) (Behaviour)

(a) Delegating (i) High task and high relationship
(b) Participating (i) High task and low relationship
(c)  Selling (i) Low relationship and low task i
(d) Telling (iv) High relationship and low task 4
Code : { r
@ ® © @ ‘
O 6O @ @ @ _ f
(2 @ @) @) @ y I
(3 @) @v) @ @ — B - |
@ @ @ @ 0 f/" "I
/
Match List - I with List - IT and select the correct a swer by choosing from the code given
below :
List - I {f I
(Concept) A qescrlptlon)
(a) Successful Intelligence 1X Ability to cope with the problems of day-to-day life
(b)  Practical Intelligence 1 , (;'1 Ability to achieve one’s goals of life across given
- cultural contexts, capitalizing on strengths and
correcting weaknesses to adapt with the
environment
() Mating Intelligénce ' (iii) Ability to cope with novel problems and situations
(d) Creative Intelligence (iv) Ability to understand the outcomes of mind’s
d reproductive system
Code : e
(a) (b) ‘tc) \ ()
O 6 @ (@ W)
@ @ O (v @)
@) @ @) @ o
@) v @0 @

55. How many ‘three way interactions’ can be studied in a 4 X3 X3 factorial design ?
(1) 1only (2) 4 only (3) 12 only (4) 3only
aos VRV 25
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53. ol - [ 1 Gt - [1 o @19 Gafe sifve 3R fFafafad $e 1 7600 wd 38 9@ S 6l =9

54.

55.

s (1T

HIFT :
et -1 et - 11

(I ) (aEr)
(a) TERISH () A FME AR IA Gy
(b) EEWIfT (i) I P AR A GaY
CEREEE! (i) 7 HEY IR <A HE 4
(d) ol A () (iv) ¥=a "oy 3R =F w0 . "rf'
<

(@ () (o (d)
H @ @@ @) () / 'i'
(2) @) @) Gv) @ :
® @) @ @ 0 y A
4  (@v) @) G @) / \ |}
W-Iﬁ@-ll%mﬂ@mﬁﬁqamﬁﬁqﬂlﬁ?ww F T IR G

Tl - 1 4 75 1
( JTFYRTT ) . b | (faaoT)
(a) HHd dfg \ @ fea-ufafeT Sfe =t wwemeti 9 fued =t e
(b) AEEIRE 5 i) feu U Aiepfaew deuf ¥ Sfed & @ed U w0 A
&A1 | STI &THT 1 Y 3oTd gU STIHT ShiHAT G R
‘i. T SR & e G |
(c) ™ gfs w | (i) Tafes gens qon wffeferl @ foe %t ama
(d) méﬁ, (iv) TfTsh =t ISk Jomell o FTeentl sl THe ol &
FE Pt
Co@m ol@

1 @@ @@ (@) ()
@ _ @) @) |Gv) (i)
@) (i) (v) @) d
(4) (v) (i)~ @ ()
THF 4 X5 x 3 FRH AR § fopa Fmmia TReafies et o e1eae fopan T weha & 2

(1) ed 1

(2) had 4 (3) whad 12 (4) hed 3
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56. Ina verbal memory experiment, the two independent variables, ‘meaningfulness of material’
and ‘retention interval’ were employed, each varied at three levels. The number of words
correctly recalled was the dependent variable. The sum of squares due to meaningfulness of
material is 270. The Mean square for the meaningfulness of material would be :

(1) 30.0 (2) 675 (3) 90.0 (4) 135.0
57. In ‘Signal Detection Theory’, which of the following determinants are assumed ?
(a) Observer’s sensitivity (b) Sensory threshold o
(c) Response bias (d) Decision bias 'f; )
Code : f r
(1) (a) only (2) (a) and (c) only
(3) (@), (c) and (d) only (4) (b) and (c) only _ '
/ &

58. According to Tolman, which among the followingare the “Individual Differences” variables
which interact with independent variables to pfoduce B'elhaviour 3
(a) Age (b) IIﬂi—Ieredity |

¥ | I
(c) Previous Training (d) | Speci En_dlocrine, Drug or Vitamin conditions
Code : (f
(1) (a) and (c) only (2) (a), (c) and (d) enly
(3) (b), (c) and (d) only L) «.(4) (@), (b), .(c) and (d)
«/ '

59. Which of the following theorigs Jreﬁresent the mechanistic metaphor of motivation ?
(a) Psychoanalytic - (b) Ethological
(c)  Sociobiological (d) Expectancy - value
Code : = -

(1) (a), (b) and (c) only | (2)  (b), (c) and (d) only
(3) (@), (c)and (d) only (4) (@), (), (©) and (d)
|

60. / According to Méichenbaum (1977), the steps involved in cognitive behaviour modification
are : | ¥
(1) Covert self/instruction — overt external guidance — overt self guidance — cognitive

_ modeling - faded overt self-guidance
(2) Cognitive {nodeling — faded overt self - guidance — overt external guidance — Covert
\ self instruction — overt self-guidance
(3) "W Covert self instruction — faded overt self - guidance — overt external guidance —
» Cognitive modeling — overt self - guidance
(4) Cognitive modeling — overt external guidance — overt self - guidance — faded overt
self - guidance — Covert self-instruction
s .
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56. dfeeh T TN H < Was o At bt wrefehar’’ 3R ¢ gfaumRr staue’! s T foRa e, s
T e i T W E-fae 91 Tt TR forn T wsg) ot 9 TEds X o1 | ST ) giedendr o
SO ST BT AN 270 T | W T H1efRAT S HEH S 9 B0 2
(1) 30.0 2) 67.5 (3)  90.0 4) 135.0

57. Hoa IfvEM fagia # fefafed § @ fFa TauRe 1 STTHE T S € 2
(a) ek i AT (b) HeISt <@t
() TR YeItE (d) Fofr qate
< : {

(1) ¥ () ) ¥ () 3R () !
() F (@), (c) IR (d) () F () ()

58. 2ITHA o STTHR HFAGR 30U i oh [T Tas =) o 1Y Sqgfhan °|v"';\"|°||tf15-‘ Afte Tk AR’ TR HA
qe? // P
(a) <mg (b) JWW I
(c) E-urreqo (d) / o t@mﬁq 3irfy = faerfgm =t feafa
(agl_)6 e (a) 31 (¢) (2) o (a%’ic) ()

() A (b), (c) IR (d) W @b TR

59. Frerfein & & dvn fgin i 3 T SR 1 T 32
(a) HAfTTATH __h A (b) AR S
(c) HHIS W (d) emen
%< : !i. .

(1) 99 (a),.(b) SR () | (2) A (b), () ¥ (d)
(3) o (a?/_(c) #R (d) 4 (a), (b), (0 ¥R (d)
60.  ATEhTeH (1977)*% SR HAMIHS FeR IR H Aienferd Haw g

) Wiﬂq—‘jij:ja Yehe, ATl ANIGIA — Uehe, T-ANGYH — HIMHSE FTEI0 — Hiehl
2). %W—)WW@—W—)W, R AN — 3Tehe. W-3I¥ —
3). _ﬁdw‘{;r—wgqyl — Wichl Gehd T-HNIGY - Yehe, WM&l HNIGY — HaHlcHeh Jiaeqor —

¥ yehe, T-ARieyH
(4) FIEIES FAETU — The, TRl AFGYH — Wohe, T-HRISY — Tihl Jehe AR —
3TYehe T&-ARIGeA
s T . —
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61. Match List - I with List - IT and select the correct answer by choosing from the code given

62.

63.

v ||

below :
List - I List - II
(Concept) (Description)
(a) Interactive Images (i) Visualizing walking around an area with distinctive
landmarks that you know well and link them
(b) Acronyms (i) “oneis a bun” “Two is a shoe” \
(c) Method of Loci (iii) If you have to remember to buy socks, apples and '&Jpéir of

scissors, you might imagine cutting 4 socks that Ras an
apple stuffed in it with a pair of scissors

L
Devising a word or expression in‘which each of its letters
stands for a certain other word ot concept

L E

(d) Pegword System (iv)

@ (b) () (d) £\ |
(1) () () (@Gi) (i) | \ __.a
@ G (@) @) () «/ .J
@) () @) @) () " r” ‘
@) Gv) @) @ () < JI h !
Y.

Which of the following Conc.e;pt, according to which each mental event has a unique time of
ascendency, the plan for which is contained in the organism’s gene ?

-

(1) Epigenesis { (2){ Maturation (3) Genotype (4) Phenotype

Rollo May’s Eleﬂbription of personality development can be explained in which of following

; sequences o

(1) Innocence . Dépendence — Rebellion — Ordinary Consciousness of self — Creative
Consciousness of self

(2) " Dependence — Innocence — Rebellion — Ordinary Consciousness of self — Creative

Consciousness of self
i

(3)" , Innocence — Rebellion — Dependence — Ordinary Consciousness of self — Creative

L | .
_ Consciousness of self
r

(4) Dependence — Innocence — Rebellion — Creative Consciousness of Self — Ordinary
Consciousness of self

AT .
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61. T - [ S Gl - 11 < |19 Fafad i AR = ST T e &1 J30 o3d gC Fel S 1 =

T |

Tl - 1

(9T )
(a) UREARE Bfei
(b) &t
(c) dehts Ugid
(d) TEE goTed
<

@ (b)) (o
1) @ @ ()
(2) (@) @Gv) (@)
(3) () (@) ()
4) (v) (@) (i)

%Wﬁﬁﬁﬁh%ﬁﬁﬁ#ﬁ%

gl - 11
( feremuT)
(i) Wwﬁl@mﬁ%ﬂﬁdmﬁ*wlwﬂﬁﬁaﬂq
TS TE S &1 a0 3% 399 H Sl
(i) ‘AT gIUy” { s

Jfg AR 1€ TIA1 Bl T 29! A, @%awﬁaﬂﬁ%
319 Tk HIS! Skl el § e Elﬁ GG CTTy Wm g oo
Yo T g T

(iv) T UHT IE el aqiwoqrqq aqu'oh{—u SRR EIN PED
e T A YR A SR T AP < |
IlI |

(@ \f

(iv) —y

(i) , (

(i) 1?¢{

(1) <
62. fAfafed & 9 ford §@g & TTIR T HHAH BT o STRY I s ATe 99 Bl §

B 82
(2) aRgererar (3) SHYEY (4) THEY

(1) RESHT 4

63. Wﬁ%@m&wmmﬁwﬁmﬁﬁmwﬁwmww

2

|

(1) e o frfar - g - @ F HERT S - T B g T

(2)' FrsfRar — <ot — foie — T T R = — T okl YorTHe e
(3) e — foEE - Fiefa — @ 1 N S > @ H g =
4) TR — e — fag’ — @ St goHHes =qT — W i /R0 a1

s (1T
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64. Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Test) (Author)
(a) Personal Orientation Inventory (i) Rogers
(b) Q-sort (i) Maslow
(c) House - Tree - Person Test (i) R.B. Cattell
(d) Objective Analytic Tests Battery (iv) Buck r
Code : /
@ ® @ (@ (
® @O @ @) (@) | [
2 @ @ @) (i) *
(3 @) @) @ @ ,
) (@v) @) @ @) . S
g ™ |i
65. Because of the lightning speed, computers cay['J etrievé and manipulate stored data faster
than people, but the human brain beats the C mputer hands down when it comes to :
(1) Using heuristics | Following algorlthms
(38)  Serial processing Slmuv% ‘?ous processing
66. Which of the following is the sleep disorder in which the pefson is physically active during
REM sleep ? X
(1) Narcolepsy <, I (2) Cataplexy
(3) Somnambolism l g (4) REM Sleep Behaviour Disorder
67. Match List - I with List - II and select the correct answer by choosing from the code given
below :
List - I { ( List - II
(Technique) (Description)
(@ Ccr . ] (i) Detects increase in oxygen levels during neural activity
(b)  MRI 4 (i) Measures variations in hydrogen concentration in brain tissue
‘(c) PET “¢ '\ (i) Forms3-D image of brain by combining X - rays of cross sections
| ¥ of brain
(d) fMRI ' (iv) Image produced by emission from injected substances that have
- been made radioactive
Code : |
L@ b, @
M\, Gy 6 G G
@~ @) @ 6
@) v @ @ o
@) @ 6 ) (@
s T y
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64.

65.

66.

67.

raost [ HHIFHI

/0

Tl - [ 1 Gl - [1 o 99 gafe wifve $iR fAfafed $e 1 5b0m wd 38 9@ S 1 =9
RIS
it -1 it - 11
(wireroT) (@)
(a) Safaer feafa-fraRo gemet G o
(b) F-EE (i) Fe
(c) TRE-II-TEA = (iii) ST, hea
(d) oS faeeravmTs Tiem st (iv) 9&
% : (
@ () () (d) '
1) @) @) () (i)
2 @) @ (Gv) (i)
() () (v) @) ()
4)  (v) () (@) (i) 'i
Wﬁ%www&amwwﬁgaﬂimmmaﬁaﬁ&ﬂ aAferek St ¥ R
Hchdl%I%QWHIﬂqW%%d{ﬁquﬁ%@ISéﬁT%W I 91T AW
(1) MY AR HT ITART m STIE
(3)  ShiHesh shHUI
frefafea ¥ 9 frg - Wﬁﬁwﬁ#m%@%%@mmﬁﬁmmﬁ%w%
(1)  renferet o l @ seowh
() e e Vs Y @) Rz fm oreRR faf
Tl - [ 1 g - Il%wagﬁﬁﬁaﬂﬁqaﬂiﬁmﬁf@a?wmmﬁ@uﬁwww
HITC i.
el - 1 ' { et - 11
( eReiTeRt ) | (=TEAT)
@) A 4 () T foRan % SR sifeRdtsH & @l § gfg & Hgfad e 2|
LIRS | (i) AR Sk § TS Hehesvl § fadig &1 w19 ¢
(c) drz2L f ' (iii) ARETSR % O Wl o THI-Y Tl HATSA h ARTSR i 3 - S gfa«
fmtor st T
() Eq%.@.amlaws‘. (iv) eraafer gered 5= et smmn e €, sk fafewwo & 3o ufgm
ﬁt‘ :
L (@ (b)) (9 (d)
1) W Gv) @) () (i)
(2) © @) () (@v) ()
(3) (v) (i) (111) (i)
4 @) @) (@)
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68. Match List - I with List - IT and select the correct answer by choosing from the code given
below :
List - I List - II
(Phenomenon) (Explanation)
(a) Just world phenomenon (i)  Tendency to have first agreed to a small request
and to comply with a larger request
(b) Foot - in - door phenomenon (i) A situation where conflicting parti(?s-_ai*e being
caught for protecting self interest ¥
(c) Social trap (i) The phenomenon where repeatedly’ ;facing
novel stimuli increases thei-r liking e
(d) Mere exposure phenomenon (iv) The belief that world is just and the people get
what they deserve to get and wvice - versa
Code : >’ !
@ () (© (@ b ‘
O O @ @) ) y |
@ ) @) @) ) [\ ]
@) G @ 0 @) : \ -'
@) @) O @ @) / J,
69. Organizational behaviour focusses oxn 4 r
(a) How to improve producipix?tyi_
(b) Reduce absenteeism and turnover
(c) Increase employees job satisfaction and commitment
(d) Increase decisig)iti making ability
Code : ' !
O @O O PO O @O0 § @0
70./ Fluid general int%lig'ernce (gf) includes the abilities :
(a) to perceive relationship among stimulus patterns
(b) to comprehend implications
(c) to draw inferences from relationships
(d) to acquire quantitative knowledge
Codé :
(1) (a) and (b) only (2) (c) and (d) only
(3) (a), (b) and (c) only (4) (b), (c) and (d) only
s T .
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68. eIt - 1 h! Gt - I1 & |19 GAferd HifSe qen == fT 7 e w1 9= id gC E@l ST ST

et -1 et - 11
(9sw™) (=)
(a) ST acE YA () TR BT FAIUY T AR R IS 310y A

(b) He-3A-SR TRH

(c) Wl g

%t qgfd |
(i) et feurfa STl foreft vadl 1 ot m%ﬁﬁt&ﬂ

Y U TSl T & |

T YehH &1 AR Adi S&ad & gl Erk

STeh! THS STed! ¢ | {

(d) HR-TFHESR ThH (iv) Tm fave for fava =meTa © iR &l &1 =@
fireran  forass & w1t ¥ qen forctreg:

E 4 1 (

(@ () (o (d) -

1 @ @@ @) (i) Jffﬂ’ [

@ @ G @) [\ )

G @ @ O ) ’ -'

@ @ 0O 6 G \4./ ,

69. TISATHS oqqauﬁﬁ“;r%frﬁaﬁﬁ@ﬁﬁ-ugwﬁmwf%7

70.

vaoa [

(@), (b), (d) (2) (), (©) (d) 3) (@ (b) (© 4)

TS T TG HTF.) H HH-F erwarsti i THEw g 2

(a)
(b)

()

(@)

F24
Foet (a) AR (b) (2)

(1)
(3)

AT s § gey w1 aHeE
gﬂﬁaﬁm'srﬂ
waﬁﬁﬁgﬁﬁaﬂw

TUlceh 1A 3TRSTd LT

9 (a), (b) ¥R (0) (4)

AN .
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Instructions for Q. 71 to 75
Read the following paragraph and answer the five questions that follow :

A personality psychologist wanted to factor analyze the important personality traits. He
selected personality scales of 78 important personality traits, presumed to cover most of the
important characteristics. These scales were administered to a sample of eight hundred and
fifty respondents. The intercorrelations among the 78 traits were computed and the 78 X 78
correlation matrix was obtained. Retaining unities in the diagonal spaces of the correlation
matrix, unrotated factors were extracted. Cattell’s scree plot favored fifteen factor, selution.
The fifteen factors together condensed 72 percent of variance. The first factor condensed 18
percent variance. The 15 factors were rotated and the inter-factor correlations were examined.
Since some of the inter - factor correlations were substantial, the psychologist de'?idéd to
carry out the second order factor analysis f

71.  Which one of the following method of factor extraction has been, most likely, employed in
the above study ? {
(1) Maximum likelihood (2) Unweighted least squeire
(3) Principal components method  (4) Em‘ft’lcipal axis method
i i
72.  What percent of variance would be condenséd by the setond unrotated factor in the above
study ?
(1) 18 percent (2) Less thaléJ 18 percent
(3) More than 18 percent " (4) Inadequate data
!
73. Cattell’s scree plot has : | £
(1) Order of eigen value onXf axis and actual eigen value on Y - axis
(2) Order of eigen value on X - axis and the covariance on Y - axis
(3)  Actual eigen value on X - axis and order of eigen value on Y - axis
(4)  Actual eigen value on'X - axis and covariance on Y - axis
w |
74. Out of the following four methods of factor rotation, which method/s has/have, most likely,
been used in‘the above study ?
(@) Varimax (b) Quartimax () Promax (d) Oblimin
Code : [\
(1) (a) and (b) only (2) (a) and (c) only
(3) (b) and (c) only (4) (c) and (d) only
|
75. What percentage of total variance will be explained by the 15 factors after rotation ?
(1)Ik y Less than 72 percent (2) 72 percent
(3)ue More than 72 percent (4) Inadequate data
-00o0-
S 11 T
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9T H@&A1 71 9§ 75 Tk o oIl TQ ¢

frfafiaa trmw =t ue iR fFfataa uis woel & S

Teh Hfericd Ao Hecaqul SAfrical Ul i e foeerau ST =med o1 | 381 78 SAfaerend
T ! AT AT 1 T8 B w99 T fF o sifuehat favvand afmfed & W ¥
AT o1 oT1e |l v forweiie o wwg I fean | 78 Uil o o9 Sfa-TegeY dl qiefad foha
T 31K 78 x 78 Weday fgam ura ! M| weHey Hfgad & Fuiia el § Th-Ush Hl WEd g
STfUId STzshi k1 FTeahor fehefl 7T | Shee o ' Shi' ST Uree-SIeeh B o Ual § o1 | FREE M |
ThiAd ®9 9§ 72 FOe TE01 1 Fufa fhan| g wes 3 18 9favm ToRor &1 "ufa fHan ) 15
HeHhi 1 UM TR T SR STR-wIehia Hedal 1 wier fhan T @W—W{WH
et geeti # 9, sufee AR 3§ fda -l e favero s fofy foe |

71. Sl st et § W e S Frepdon agh % ST Gaif SEe § 2
(1) Hfremm AEFdgs (2) FTATE, Ww-Taw
(@) fifgaa wam=g fafy W Q%Rm fafy
72. SWEA AEA H fgdi memmﬁmmm e foman Stmam ?
(1) 18 gfaera q{f FH
(3) 18 yfdwrd | Afersk 4
73. %ed ‘wh AOE H T 4
(1) T Ty ™ WW%LWWWW ST fereh STEeI]
(2) WWWW@E&W@T%WWW
(3) TS TR T dTKifoleh 378! |~1qo<;Laﬁ'{ TS TfRY TR ST |-1o|c'<;_LT>Fr shH
(4) WWWWW@%WWW
74. Wawﬁwgﬁ?aﬁﬁmﬁff@ﬁqmﬁﬁm%wﬁﬂﬁwﬁwaw%?
(a) " 4 (b) FERIHF (c) U (d) sifecifia
R R 4
(1) o (a) }ﬁ‘{ (b)’ (2) e (a) 3 ()
(8) FA (b) 3R (¢) (4) FA () IR (d)
75. gﬂﬁ?ﬂﬁlﬁﬁ@m%ﬁmmaﬁmﬁ?
(1), 72 9fm & & () 72w
(3) = 72 ¥fewm & sifer (4) T e
-00o0-
weaoet | [HLR IR . Fapec
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